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ENGLISH VERSION

Instructions : (1) Answer the questions as per instructions.

(2) Figures to the right indicate marks.

(3) All questions of Q.No.-1 are compulsory. Do not

write irrelevant matter.

1  Write the following questions in very short :

(1.1)

(1.2)
(1.3)
(1.4

Hiral withdraws Rs. 500 in the beginning of every
month. If 10% p.a. interest is chargeable on drawings,

determine annual drawings and interest on drawings.
Give the meaning and formula of sacrifice ratio.
Write the rights to a new partner.

What is super profit ?

2  Attempt any four questions in short :

2.1
2.2)
2.3)

(2.4)
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Write short note : Realisation Account.
Write note on circumstances of retirement of partner.

A and B are the partners of a firm sharing profit and
loss in the ratio of 5:3. They admit C, a new partner,
who acquires 1/4th share in the firm. C obtains his
share from A and B in the ratio of 3:1. Find out new
profit-loss sharing ratio.

P, V and R the partners of the firm sharing profit
and loss in the ratio 5:3:2. R retires after the
adjustment of profit of revaluation, reserves and
goodwill, partner's capital stood Rs. 50,000, Rs. 70,000
and Rs. 80,000 respectively. The entire capital of the
firm as newly constituted is fixed Rs. 1,40,000 between
P and V in their new profit-loss sharing ratio 3:2.
Calculate the actual cash to be paid or to be brought
in by the continuing partners. Pass the necessary
journal entries with working notes and also prepare
capital accounts of partners.



(2.5) Write journal entries of the following transactions :

@) At the time of dissolution of the firm, Machinery's
book wvalue 1s Rs. 70,000. A partner takes it
Rs. 78,000

@) Bad debts was written off in past Rs. 14,000, in
which received Rs. 10,000.

3  Attempt any three questions in detail : (three out of five) 15

(3.1) Explain methods of preparing final accounts of
partnership firm.

(3.2) Write differences between fixed capital account method
and fluctuating capital account method.

(3.3) Define partnership and write characteristics of
partnership.

(3.4) From the following information of Manoj and Harish's
firm, determine the value of goodwill by capitalised
average profit method :

Year (2012-13 | 2013-14 | 2014-15 | 2015-16 | 2016-17
Profit | 90,000 | 1,00,000 | 1,10,000 | 1,30,000 | 1,50,000

Rs.)
Additional Information :

(1) Assets of business Rs. 13,40,000.

(2) Liabilities of business Rs. 3,40,000.

(3) Normal expected rate of return of business is 10%.

3.5 A, B and C are the partners of a firm. Their
profit-loss sharing ratio 1/2, 3/10 and 1/5 respectively.

They admit D, as a new partner for 1/6th share. C
would retain his original share after D's admission.
Calculate new profit-loss sharing ratio.
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